
1

The Plastic Pattern Perfect 
Instructions

Parts List:
Part List .................................................................................................................... 1

Assembly Steps:
Step 1:  Fastening Templates to Table.......................................................................... 2
Step 2:  Pattern Perfect Stylus Bracket Assembly.......................................................... 3
Step 3:  Stylus to Stylus Bracket Assembly................................................................... 3
User Tips................................................................................................................... 3
Examples of Patterns.................................................................................................. 4

Parts List

 

 

1) Stylus

2) M6 X 55mm Socket 
Head Cap Screw

3) M6 X 40mm 
Hex Bolt

2) M6 
Hex Nut

30) Pin

3) Plastic Knob

1) Non-Skid Mat (not shown)

1) 4mm Allen Wrench

1) Stylus Bracket

2) 1/4”  X 45mm 
Connector Bolt

2) 1/4” 
Jam Nut1) Stylus Bracket 

Adaptor

1) Stylus Adaptor 
Spacer



2

Step 1: Fastening Templates to Table
Parts Needed:   1-Non-Skid Mat
		      3-M6 x 40 Hex Bolt
		      3-Plastic Knobs
		      Pattern Templates
		      Pins

1-1 Your frame size will determine how many templates you will need.

1-2 To assemble your templates you will need to decide what patterns you want to line up and put the 
grooves together.  **You have 8 different patterns to choose from (4 on each side).

1-3 First, lay down the Non-Skid Mat on 
the table top, making sure there are not 
wrinkles.

1-4 Next, determine which pattern set 
you wish to use, and place that pattern 
set face-up on the mat.  Connect the 
next template, using a minimum of two 
Pins, as shown.

1-5 For added template stability, we recommend you fasten the templates to the table top using a M6x40 
Hex Bolt.  To do this, find a hole that is near the middle of the template assembly and make sure it lines 
up with one of the slots in your frame’s table.  You may need to shift your template assembly slightly to 
line up the hole with a slot.  Put a bolt through the hole in the template, push it through the mat and into 
one of the table slots. 

1-6 Place plastic knob onto the end of the bolt and hand tighten completely

(If necessary you can further secure your patterns by inserting bolts on both ends, as shown below.)



3

Step 3: Stylus to Stylus Bracket Assembly
Parts Needed:   1-Stylus
		      1-Stylus Bracket Assembly with Top Carriage

3-1 First loosen the Plastic Knob on your 
Stylus Attachment, slide the stylus down 
into the stylus holder (as show right), and 
tighten the Plastic Knob.

Step 2A: Pattern Perfect Stylus Bracket Assembly (Metal carriage)
Parts Needed:   1-Stylus Bracket
		      2-M6 x 55 Socket Head Cap Screw
		      2-M6 Hex Nut
2A-1 Remove your machine from the top carriage allowing you to more easily install the stylus bracket.

2A-2 Take your top carriage off the frame and turn it upside down.  Place two M6 x 55 Cap Screws 
through each hole in the Stylus Bracket and the top carriage plate.  (The Stylus Bracket can be attached 
on 
either the left or right side of the carriage.

2A-3 Next completely tighten the M6 Hex Nuts onto the ends of each bolt.

User Tips:
• You can create different pattern designs/combinations by offsetting individual templates.  Combine 
patterns from either side of the templates (see example #1), or stagger the templates to line up different 
from the same or different sides (see example #2).

• You can also index the Stylus in 1/2 inch increments, which allows you to 
offset patterns on your quilt or switch to different patterns on the templates.

(See reverse for examples of offset patterns)

Step 2B: Pattern Perfect Stylus Bracket Assembly (Wood carriage)
Parts Needed, in addition to thos listed in step 2A:
	 1-Stylus Adaptor
	 1-Stylus Adaptor Disk
	 2-1/4” x 45 Connector bolt
	 2-1/4” Jam Nut
2B-1   first secure the stylus adaptor to the stylus bracket, using 2- M6 X 
55mm socket head cap screws, and 2- M6 hex nuts.

2B-2  Remove the connector bolt closest to the middle from the handle that is 
on the side of the carriage that you will be mounting the stylus bracket.
2B-3  Now secure the stylus adaptor to the top plate by inserting both 45mm connector bolts through the 
outer holes in the stylus adaptor.

2B-4 Next place the stylus adaptor disk onto the bolt that will be furthest from the carriage handles.

2B-5 Insert the bolts through the holes in the top plate, and secure into place using the provided 1/4” jam 
nuts.

Example #1 Example #2

Turn top plate upside-down for 
easier assembly



4

Te
m

pl
at

e 
G

ui
de

 E
xa

m
pl

e 
Pa

tt
er

ns
E
ac

h
 p

at
te

rn
 i
s 

cr
ea

te
d
 u

si
n
g
 t

h
e 

sa
m

e 
p
ri

n
ci

p
le

s.
 B

y 
m

ov
in

g
 t

h
e 

st
yl

u
s 

fo
w

ar
d
 o

r 
b
ac

k 
an

d
 t

h
e 

te
m

p
la

te
 r

ig
h
t 

or
 

4 
In

ch
 S

ca
llo

p

4 
In

ch
 V

 P
at

te
rn

4 
In

ch
 B

um
p

le
ft

 i
n
cr

em
en

ta
lly

 a
t 

th
e 

b
eg

in
n
in

g
 o

f 
ea

ch
 p

as
s,

 n
u
m

er
ou

s 
d
if
fe

re
n
t 

p
at

te
rn

s 
ca

n
 b

e 
cr

ea
te

d
. 

C
om

b
in

in
g
 

se
ri

es
 o

f 
co

m
b
in

at
io

n
s 

of
 t

h
e 

d
es

ig
n
s 

ca
n
 a

ls
o 

cr
ea

te
 a

n
 i
n
fi
n
it
e 

n
u
m

b
er

 o
f 

d
if
fe

re
n
t 

p
at

te
rn

s.
 

La
rg

e 
Sc

al
lo

p 
& 

La
rg

e 
Bu

m
p 

Re
ve

rs
ed

 C
om

bi
na

tio
n

La
rg

e 
Sc

al
lo

p 
Re

ve
rs

ed
 C

om
bi

na
tio

n

La
rg

e 
& 

Sm
al

l S
ca

llo
p 

Co
m

bi
na

tio
n

 S
m

al
l B

um
p 

& 
La

rg
e 

V 
Co

m
bi

na
tio

n

To
 c

re
at

e 
th

is 
pa

tte
rn

 b
eg

in
 b

ot
h 

pa
tte

rn
s a

t t
he

 sa
m

e 
po

in
t. 

Th
en

 re
pe

at
 th

e 
pr

ev
io

us
 st

ep
 2

" 
fo

rw
ar

d 
fro

m
 th

e 
st

ar
tin

g 
po

in
t.

To
 c

re
at

e 
th

is 
pa

tte
rn

 b
eg

in
 b

ot
h 

pa
tte

rn
s a

t t
he

 sa
m

e 
po

in
t. 

Th
en

 re
pe

at
 th

e 
pr

ev
io

us
 st

ep
 2

" 
fo

rw
ar

d 
an

d 
2"

 fr
om

 th
e 

sta
rti

ng
 p

oi
nt

.

 S
m

al
l V

 &
 S

m
al

l S
ca

llo
p 

V 
Co

m
bi

na
tio

n

To
 c

re
at

e 
th

is 
pa

tte
rn

 b
eg

in
 th

e 
sc

al
lo

p 
pa

tte
rn

 1
" 

fo
rw

ar
d 

an
d 

1"
 fr

om
 th

e 
st

ar
tin

g
po

in
t o

f t
he

 sm
al

l V
 p

at
te

rn
. T

he
n 

re
pe

at
 th

e 
pr

ev
io

us
 st

ep
 2

" 
fo

rw
ar

d 
fr

om
 th

e
st

ar
tin

g 
po

in
t.

To
 c

re
at

e 
th

is 
pa

tte
rn

 b
eg

in
 th

e 
pa

tte
rn

s a
t t

he
 sa

m
e 

po
in

t. 
R

ot
at

e 
th

e 
pa

tte
rn

 a
nd

re
pe

at
 th

e 
th

e 
tw

o 
pa

tte
rn

s b
eg

in
ni

ng
 4

" 
fo

w
ar

d 
fr

om
 th

e 
sta

rt 
po

in
t. 

C
on

tin
ue

 b
y 

re
pe

at
in

g 
th

e 
pr

ev
io

us
 st

ep
s. 

To
 c

re
at

e 
th

is 
pa

tte
rn

 b
eg

in
 th

e 
fir

st 
an

d 
se

co
nd

 p
as

s a
t t

he
 sa

m
e 

po
in

t. 
R

ot
at

e 
th

e 
pa

tte
rn

 fo
r t

he
 se

co
nd

 p
as

s. 
R

ep
ea

t t
he

 p
re

vi
ou

s s
te

ps
 b

eg
in

ni
ng

 4
" 

in
ch

es
 fo

rw
ar

d 
fr

om
 th

e 
th

e 
sta

rt 
po

in
t o

f t
he

 fi
rs

t p
as

s.

1.
 B

eg
in

 a
t t

he
 le

ft 
si

de
 o

f y
ou

r q
ui

lt 
w

ith
 th

e 
st

yl
us

 a
s f

ar
 fo

rw
ar

d 
as

 p
os

si
bl

e.
 

2.
 N

ex
t m

ov
e 

th
e 

st
yl

us
 2

" (
4 

no
tc

he
s)

 b
ac

k 
an

d 
be

gi
n 

tra
ci

ng
 th

e 
pa

tte
rn

 m
ov

in
g 

le
ft 

(T
hi

s   
w

ill
 m

ov
e 

th
e 

m
ac

hi
ne

 2
” 

fo
rw

ar
d 

w
he

re
 y

ou
 w

ill
 b

eg
in

 se
w

in
g)

 
 

3.
 R

ep
ea

t t
he

 la
st

 st
ep

 w
he

n 
yo

u 
re

ac
h 

th
e 

le
ft 

si
de

 o
f t

he
 p

at
te

rn
. 

4.
 W

he
n 

yo
u 

fin
is

h 
th

e 
th

ird
 st

ep
 a

nd
 h

av
e 

ar
riv

ed
 a

t t
he

 ri
gh

t s
id

e 
of

 th
e 

pa
tte

rn
 a

ga
in

, r
es

et
 th

e 
st

yl
us

 to
 th

e 
st

ar
tin

g 
po

si
tio

n 
an

d 
be

gi
n 

th
e 

pr
oc

es
s 

ov
er

 a
ga

in
, t

hi
s t

im
e 

be
gi

nn
in

g 
fr

om
 th

e 
 ri

gh
t s

id
e 

of
 th

e 
qu

ilt
. 

Th
is

 p
at

te
rn

 is
 c

re
at

ed
 b

y 
m

ov
in

g 
th

e 
st

yl
us

 b
ac

k 
2”

 (4
 n

ot
ch

es
) a

nd
 sh

ift
in

g 
th

e 
 

 
te

m
pl

at
e 

ov
er

 2
” 

af
te

r e
ac

h 
pa

ss
.

 
 

Th
is

 p
at

te
rn

 is
 c

re
at

ed
 b

y 
m

ov
in

g 
th

e 
st

yl
us

 2
" (

4 
no

tc
he

s)
 a

nd
 sh

ift
in

g 
th

e
 

 
te

m
pl

at
e 

ov
er

 2
” 

af
te

r e
ac

h 
pa

ss
.

 
 

 
 

Th
is

 p
at

te
rn

 is
 c

re
at

ed
 b

y 
sh

ift
in

g 
th

e 
te

m
pl

at
e 

to
 1

” 
af

te
r e

ac
h 

pa
ss

.
 

Th
is

 p
at

te
rn

 is
 c

re
at

ed
 b

y 
sh

ift
in

g 
th

e 
te

m
pl

at
e 

2”
 a

fte
r e

ac
h 

pa
ss

. 
 


